S 3 IS http://www.jooshkab.com/index.php?option=com_content&view=articl...

JAS 3 ds

(2 R)0sShn G55 5 Gile b JES sla JiS

CIECSE - YYA 515kl G:lao & (olS) o2 39351 @ o 153l

VDE 5 CENELEC HD F¥ 3 lsstiasl gilhs E1 ¥ Uslea IEC 5+ PE 3 lsibias] galla IEF £33 ipalans 350alS 13
Py

Cawlss s 4 Lo :gsla 5101
) £ Uad) sloss
(o g0 ooy (512948 — jo 5 S5,y a5 )12 i JUB) Cag) Goliaw 3090 S5y 4 O9Suanw 1 265 J2S9)

SRl 4250 VA G =0+ 15,515 slos

(2R) any (55 5 Gle b S gl JiS

ISIR(14vs) 75 1@ o 3135kl

FO-/VO-V I8 5Ly

(59391 @5 L5 900 13) O LuUS 83 il GLESI o : (631a
09,550 PV sl (Jly Jlgi : (9ol 2355 o

IE ) (El'Y) g9 5l EPDM) S5, Sewl ol 35LalS : gale
ol 4 Lzl ol

@iy §) G rand sl

09,500 PV sl Jlgs :j2S9) 224 |

S50 655 13 9 ¢l 333 (5o o Yo )L ol 53 polio SE F (EM V) 95 51 (S (Scstawd) 33Lsol 1 a5 SS9,
29U S caoy Cagr JolS 30 OT g Gidoy 9 b5

B> O O 4 ClgshS V.0 1w Sy

ISIRIQAPS)$S 3 laskanl 15 jU 3590 sled pubiol s 1 Cand b

b 3alys Ol (SA0) O ySakumw Sl 95 1 Gale — (25T Jlio 13 polie IS 4 jLs <900 1>

g3 4 Uy 533 (5l o

1of1 4/12/2020, 2:46 PM



